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Back to the Basics

On the presentation of

grammatical lexis

60— - in Korean reference materials
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O‘l Dl -0ldl /0l Conjugations for adjectives and verbs can be
~OtA/O A classified into the following three types:
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A. Stem + 0{/0} B. Stem + (2) C. No change in stem
~01/0t S2IC ~(2)u ~3
~01/0F £Ct ~(e)od ~2
~01/0F Z=C ~(@)-ue Tk
~01/0kOk /Tt ~(S)= ~2 sUO/=UC
~0lA/OtM ~(2)= Ao ~2 sUMN/ =D
~0lR/0t2 ~(2)=m ~2 UL
~SU/UI MO R ~(2)= % ~jﬂl o
~(2)=72 ~n
~(2)=ng? Tl e
~(2)=2AR(?) ~=
~(Q)= = ~= 2
~(2) ~£d
~(2)@ ~eue
~Xlet
~(2)HA ~X| 2CH
~(2)H ~Xl 250
~(2)Al ~Xl 4L
~XQ

Three Types Revised & Expanded (1)

Integrated Korean

Korean Wiki Project

Korean

A Comprehensive Grammar

A. Stem + 01/0t
~0i/0t ECIC+ Ot/ 0 ECICH -(0t/01) E2ICt
~0f/0t 20+ Ot/ 20+ -(0H/ol) &Lt
~0i/0k =Lt OH/ O =0+ -(0H/Ol) =Lt
~01/0LOF &I Ct OF/Of + OF =T+ —(OL/01)OF &ICt
~01 A/OtA OOl + A -(OHO)A
~0e/0te OO +2 -(ot/o)R
~QA/%/n0R U/A+ T - X/
—(Rt/)Eu

Students’ Feedback: Q1

Students’ Feedback: Q1 Results

Existing System | New System Last Vowel Rule (OF or ) @
16
+0H/0l S8 +{oH/0l} =3 Q1. The new system is -
+0HOl 2M 2 +HoHol} 2R :esttt:rrnthan the existing >
oo FMR  |Hovor Fhe | 0
+0H/0l0F Ei| +{OH/0{}0F SR (1) Strongly disagree a
+OH/ 01 Al +{OH/ 01} A (2) disagree 5 mal
+0H/0 e +or/olie (3) neutral 4
+0t/04 +{0t/01} (4) agree 2
+24/201R /2102 o W WE
(5) Strongly agree Strongly  Disagree  Neutral fgree Strongly
disagres Agres
A. Stem + 01/0} B. Stem + () C. No change in stem
~01/0F S2ICH ~(@)c ~ Three Types Revised & Expanded (2a)
~01/0t 2t ~(Q)dl ~#
~01/0F =Ct ~(Q)ER ~a Integrated Korean |Korean Wiki Project Korean
~01/0}0k SIC} ~(9)= :;_ gllj C/eLCh - A Comprehensive Grammar
~0A/OtA ~(Q)= HUR ~3 UM =UDt B. Stem + ()
~H /02 ~(2)= ~1 ACH ~(Q)= AL (2)= Ao -(2)= A-
~SU/U/ MO R ~(2)=% ~aqan ~(2)=7R? (2)=n8 -(2)=m?
~(2)=28 23l weo ~(@)= % (@)= 40D T [-(2= 2 Y-/8t-
~(2)=n2? “He ~(2H2 (A2 —(2A2
~(2)=2R(?) ~= +(A)=LIDH (mine) | (&)=LICH —=LCH&UTH
Integrated |~(o)== =2 +{L)e Ot =P —eO/-ED (- /)T
Korean’ :Ei;i ~E|3|9 +(01)OF (be) (mine) —(01)OF (particle of focus - ‘if it’s’)
. R - ~X gt +(0l)ete -(oate
Beginning 2 |~(2)24 ~N Y
~(2)HR ~Xl 250 +(0l)Lt (mine) (onut
~(2)A ~X &C ) /2
~X2




Three Types Revised & Expanded (2b)

Existing System 1

Existing System 2

New System

Students’ Feedback: Q2

+Q)= AR +<e>= HQ

+H2)=ne? +<o>a2te?

+H9Q)= £ AN +H<e>a £+ A0

+2)M +<O>HR

+H2)=ln +<A>aLCH

+He)-o <>

+(01)OF (be) +0l0l2/02 +(0l)oe* > <olol /0>

+ohats

+(0NU +2/= =e/=> +<O>LE

)2 > W/ |+2/8 +<E/E> +<O>=%
+01/2t +<01/2b>

Existing System New System Consonant or Vowel Rule
+H2)= AL +<e>= Hole Q2. The new system is
+H2)=ntR? +<e>=e? better than the existing
+HQ)= £ UMY | +<2>= $ UL |system.

+H)H +<2>He

(1) Strongly disagree
(2) disagree

(3) neutral

(4) agree

(5) Strongly agree

Students’ Feedback: Q2 Results
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Students’ Feedback: Q3

Existing New Consonant or Vowel Rule
System System
+&LICH +<A>ELICH Q3. The new system is
+0/0K/OF +<0[>0t better than the existing
system.
+oNola* | +<0l02/02> +<0I>H 2
+2/e a/=> +<o>ce |(1) Strongly disagree
+8/8 +<E/E> +<2>=8 | (2) disagree
+01/3t +<01/9> (3) neutral
+1t/ 8t +</ 2> +(7)&
(4) agree
(5) Strongly agree

Students’ Feedback: Q3 Results
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Students’ Feedback: Q4

New New Consonant or Vowel Rule
System 1 System 2
+<OI>0R*  |+<0I0IK/0R> Q4. System 1 is better than
+<O>LE +<e/=> system 2.
+<o>=2 +<E/8> (1) Strongly disagree
+7)2t +<DH/ 2> (2) disagree

(3) neutral

(4) agree

(5) Strongly agree




Students’ Feedback: Q4 Results

N
S)

Strongly
disagree

O R, N WH U O N ® O

Q4
New System 1 New System 2
+<O0I>H R +<o0l01 /02>
+<O>LE />
+<o>=8 +<E/8>
()2 +<ut/ 2>
mQ4

Disagree Neutral Agree

Strongly
Agree

New System based on Feedback

1. Last Vowel Rule

2. Consonant or

3. Just attach

(OF or @) Vowel Rule
+{0k/01} +<2>=R°? +Xt
+{oH/o}re +<O>= £(0h) YN |[+1 AR
+{0H/01}0F T +<O>HQ +Xl DAl
+{O0H/01} =M +<A>=L|CH +XI gt
+HA/A o <> +0ll Al
+{2H/} +<0I>0f +ot1
+<olol/ue> +5H
+<2/e>
+<01/2b>
+<1H/ 2>

New System Refined 1

New System Refined 2

1. Last Vowel Rule

2. Consonant or

3. Just attach

1. Last Vowel Rule

2. Consonant or

3. Just attach

(Ol or @) Vowel Rule (Ot or 2) Vowel Rule
+{0t/01} +H)=na? +X +(0k/01) +Hol=n8? +X
+orolre +H2)= =001 Yo +1 AR +(oHo)2 +H{2}= =(0}) A0 +1 AR
+{OH/O1}0F SR +HR)Ma +X Ol R +(0H/O1) OF SR +H2lMe +X Ol R
+{OH/O} FHR +HA)eLT +XIgt +(0H/0l) FHR +HA}eLID +XIgt
H/QAroe +He)-ot +0Il Al +HA/A)0 2 Hele ot +0IlA
+H2H/A} +(01)OF +3t1 +HSH/R) +{0I}0k +3t1
+oloe/0e) +52E +ole/Ha} +5H
+He&/e) +He/=!
+(01/9H +{01/Jt}
+(/9) +{/2t}
New System Expanded New System Finalized
1. Last Vowel Rule 2. Consonant or Vowel Rule 3. Just attach
- {2/5} PN A LARA

. +{2}=

- {2/=_
0,

-d, 4,08, 01, @R

S

1. H{2}= 200h) Y02 //20ie
2. +{2}= £(0h A0I| 808
3. +{2}= 400D YR ~20i2 /v«

gtu ol

=(JhH An /A0 »

+(0k/01)
+oH/oh)
+(Ot/01)0F Sh2
+(OH/0f) FHR
+H/oe
+(oH/2)

+Hol=ne? +X
+H2}= 2001 AL « 0K |+ A0
+HelHe +X O
+HA}aLITH +XI gt
HeleOt +0ll Al
+{0I}0k +5t2
+Hol/ue} +2H

+He/el» {&/=}
+{0I/t}
+{1/ 2t}




Conclusion

“Everything should be made
as simple as possible,
but

not simpler.”

Albert Einstein






